cyNge
=5 8=
© [=) -
6sgse 2|22 3
<Eag || &|0|R|Q|E =
£ RS ¥ =
g 2
3 5
[—4
=
g 2ls| s
E 2|5 8
k=] e | = _% Elg v
B|S|&|8|5|E
E|8|&5|%|=|2
a .
£(NF
e | .8 @D
é‘g o | [72]
L = o
215 g
=3 S (=]
3| & = >
3|5 8
=> | £ —
= © 8
3
8 > ~
2|2 3 2 &
[77] V)
e & 2 =] >
a N 4
s S o [ >
2| = 0O =
=2 i © 2
% =
=S 2
E T E -
5|2 2 |2E
S35 = T
sl 8|8 2 |
> o ol = > > o
R \ c | s = o~
N ESER: S| o [oh) =
= E = _—— '8
S Flg e S
a S| 8 o 3
£ S ~ [ O >
5 . = = 5 5 2 5 3
T = = g 2 2 = z al_le| =z ¥ o
[ -4 [N w L %] %) = < 2|2 > = [}
< & )| ) @ < < algls Bls5|®° .
2 < < < =2 8|9 o | B ' s
s oo ) ) ' : 21s|8 =8| ¢ 8 2
w O L w > w W [ e = | £ | < o
2 < 2 9 Q 0o 4 2
coX 5 x g og;‘ Z85% X580 o
SS9Z2uo® Zpz SoZ acQZ @ ZhR3S 33
RR2afa 352 «°3 w¥Y3 o 3688 g3
g [ - . o ' o = Io ~ ot
gx ;)Z-EEE\—";EK oNENTZ298S Tz ; o \—/';
EROELNUEESZERNZNIJOCQZOSJUOEN SO E®
Zu 2t PO LS SRR E s OE I a0l Hen
g:UuﬂmENON’WEH‘g%"P@S&‘&‘%‘T‘-‘S"?Q‘N"UEQN@U’DE"“
T R P N U P N e~
T YROrOP oY Vet B2RNAANAIRRARNA M
o
I-l-¥A NAYY INYAOHNYNOZ L 0’9y 1999 ,glOZ'ZLVL
261 INW3ZOYN NN 7 7 Q6 O1a3r 94837 el gt
__________ I~ 82°G9% ~ 08°99% ~— L9vl
INN3ZQVN NN /’ //” 88‘L* gggg‘v — 8588‘7 7’j’ 8%68% <
/ 0G'l— GS'G9¥ — G6'99Y — 00094l | &
S £Gl— 69°G9Y — TLL9Y — 059GVl |
~
o
~
bt
0Ll — 0997 — 06/9% —| 000¥¥l |
13
N
& 8
: L1°29% 'Z¢ Na ® . Sr)
= VArOdid - GOAONATd / ] £ %gk: &7-98% = 6%%83 — OOC%CLJ%% '
9 5]
: : :
© £ N
¥ o
é t 0L1— Sl'/9% — G.°89v —N. 007004l |
° —
=z =
o
1 €
= 8
o
= ¥.l— v$ /9% — 86'89¥ —  00°08%l
o
o
o
0
181 — 2S'L9% — €Z69%Y — 00095l |,
[o0]
M
@
1 L9 69+ CyEL
— 081 - - - - - z7'89+ '0S NQ 1 {ééﬂwf 8?:é§17 H ‘%é%gv \t %%'%Vé
] 6vI_ - ___ JOAONATd 1 r LLU [VAWAC) 4 7 14 h = 08'6¢¢l
00 €
q ~
- INN3ZQVN NN ; L'V — Z8°L9%Y — Cv'69v — 00'6¢¢lL
— 8
ZA@H"@\ 3 I QBIL9% s Q5697 ~l— 00074l
W scgs 75 1o RO EELEE 7 SR ey T b
YIrOdIYd - JOAONAT <
s
2
- o
N
o EAA \ 8G'L— 64'/9% — 8T69% — .~ O£ Z0OCI
" [Gl— 8//9%Y — GZ'69% —e¢ ) 00°00%!
&
>
z
[F)
|
Ll
N
vy’l— 9949y — 0069 —  00°08ZL | _
o
e
997 vl 65 L9Y 16°89% 0289zl | =
< T INNIZQYN NN = [ep 1 8873t Y 18857 1 06:83¢ |
~N
% 2 3
2 2 ¥l — ¥S°L9% — G8'89% — 00092l |©
3
£
C
A 2 19:1 v L9V ‘9% 0s8:9¥ 2L
__________ c régilugtdgvu 8§§§V - %'gvgt
P INW3ZQVN NN\! c ALU v/ VU 10697 L Olvcl
na 26°L97 ‘05 NQ { A=A }Zf };U : }; = ‘9 t
S GOAONATd | & [éég 7 VH ‘93¢ E : g [
12— s 1og1 éz e 694 pell
LA - rogt [8% ‘699 241
N <
N 2
~ =
ja 2 0L1— 0°/9% — 06°'89v — 00022l
<
L]
=l
@ A 0L1— 9'/9% — 9.89% —  00°0LZL |™
a
>
z \ . . . N A
& 0L1— ¢0.9% — ¢989%y —Y pooozi
N
Yl . G9'l — 89'°99v — £Z'89% — 0881l [Q
o
£8°99% ‘0S NQ \ \\ . . . . N
9% 05 N 29l — 1¥'99% — $67/9%y — 0008l | .
n
~
o
= ’
M
N E \ \ 69l — 68°GI¥ — 8Y /L9¥ — 00°¢9Ll
- : 0Ll — 08°G9% — O0%'£L9% —| 0009l |
N
~
(‘:l ()]
~N
ELAN 0Ll— ¥6'%9% — #5°99% —  00°9%ll
Ll LS Y9Y 1:99% 00701
%) 6¢1 \ [:§ N Fe gl L.§§v BElt
B et INW3ZQVN *130S f'tgvg'vgvg ét' v E/ 0681t
‘>_ E
z @) 0
r 8¢ \ e «
o \ \\ = 0Ll — 6BL'v9Y — B6L°G9Y — 0L 9zlLL
Q|
o
£ I COP9Y ~— £9°G9% ~—— 00°071L
I ' 1t Q7= 58788 = £8.a8% —— Wit
EOI \ . 9Ll — 16C9Y — [GG9Y — osoul |
o
! 09y ‘oY YOl
Sl _______ oreH) > r88h 58837 v a3y 1 B9-EQH |
K3 Ll — 68°C€9% — 0S'G9%¥ —e . 00°00l |o
_E INN3ZQVN NN / L'l — ¥6°'¢9Y — GG'G9v —T 007460l |~
<
Nrs vl | 1Ll — 10%9% — 29°S9% —  0/°Z60l |
Eﬂ | INN3ZQVN NN / L'V — LO°P9Y — 89'GIV — 00°680L | ©
gL OLV— €79y — $LG9y — 0S80l |
" 0Ll — 2T+9% — 28S9% — 007080l |
N
~
o
A 081 — 2L %9% — Z¥99% — 0£°990l
g8l — S6'¥Y9¥Y — 0L°99% — 007090l o
o
/] 8
167 ©
---------- ¥8'1— 62°G9% — §£0/9%¥ — 08°0SO0l |,
~
©
[(e]
0 £8'l— 69°G9¥ — c¢¥ /9% — 00°0¥0L ™
n
>
Z INW3ZQVN 1330S / // CL1— ¥2°99% — [8/L9% — 00°GZOl
-
W . / ~ 0L1— Z¥'99% — Z0'89% — 00020l
---------- 0L1— ¢9°99% — 22’89y — 0¥ 'ZLO
H i .
s YEIL9Y 76°89% 2001
""""" INW3ZQYN *130S / /" 787 8288 18B3Y = 88488
0Ll — ¥6°29% — $S69% —e 0070001
o
S INWIZQYN NN 0L’V — Z2'89% — ?869%y — 00886
2 Ll Q¥ 89% QLY ‘08
A2 7 87— 97837 — 2882y ~—828%8
o
Q
p L / i 891 — 86'89% — 9G°0L¥w— 00'+96
— INWIZQYN 130S 89'L — Z1'69% — ozouﬁ'b 00096 |,
~ o
Rl o
© [(e]
- 921 INN3ZQVN NN / // 69’1 — ZS69Y — Wiy — 00676 !
1 @ Tttt 1Z°0LY ‘ZE NO / 7/ ggj&: %?ggg - Y%%g ] 88%58 =
VHFOdIYd - JOAONATd // / 69'L— S8'69%Y — vv¥IL¥ — 000v6 ’Lg
0L’V — [S0LY — (1'ZL¥ — 00026
[(e)
< o
9 sel . y y/ LBl PLLLY ~r 10°ELY A1 —08'906
INW3ZQVN "13dS / // 66l — 0Cliy — 60°¢Lv3— 00°506
o
/ / 607 — IvlLb — Ob'SLY - 00006
/ / 98l — vZ'Z/Lv — 00vL¥y —| 00088
) [T — 80°¢Ly — SI'SLy —| 00098
a
>~
z
] N
1IN
& 8l'z— z6'¢Ly — 009Ly — 00°0¥8 |
o
N
@©
/SQ: Ll 9'9/+ : o
- kS / 58582100 87377 86858 5
vl . 88'L— 2¢'G/v — W/LLY — 067908
/ / o o
/ / 181 — 6S°GLY — O€°LLY —$ 5007008
< e TLL— L6'GLY — 6SLL¥ — 00'6L
: / //
e}
0221 - oo ___ i ‘9L LY '
@ / # e3P 85808 dR71% = §5EL
/ / S
8S'L— [T/LY — SL8.¥ — 0009 N
— ~
3 i3
‘z 1
L h 1A / /
o L] @ oo / 7 (81— 06LLY — [96Ly — 00S¥L £
3w { 7 €6'L— 20'8/%¥ — G86LY — 00ZvL &
z|— Ll— 687 — 6L °6L% ——00'85L ©
Z L / /4 ST &8I T ReRIY T WEEL s
&) o
— / / <=
. |l
= o
~ [72]
/ / 0LL— €U'6L¥ — €L°08v — 0002, S
Qe . 0Ll— ¥S6L% — #l18Y —  00°GIL W
/ 0 %
o
~ 0
SRS 0Ll — 9,708y — 9£28% — 00°00L
a g o
‘>_ -
z
[F)
-
w 611
N / 291 — 8viI8y — 00¢8y — 0S5 ¥89
/ // 09l — 6918% — 6L'¢8%Y — 00089
L 091 — 86187 — 8¥'¢8% — 00+.9
o
o
/ ®
INW3ZQVN "130S / i %8{\5 ES%SEE 8{31;53 &/000%388 .
/ / :
~
— [¢e)
o ¥
. Al 181 — GE'C8Y — 90'68v —| 0S++9

] R Iy A | $Fh (558D SRS o 83eEs

— o1 / / 6L°1— 00¥87y — 89G8%Y — 08°0¢9

o
N 0LV — 0G'¥8% — 0L'98vy — 00°0Z9
(o))
S . 181 — 98 v8% — 8Z'98%Y —{© 05209
€81 — [G'¥8y — 0£'98y —¢ 00009
. /87N 18 8) w £688F Bl
o
=3
3
£
; SLL— L Y8y — 9¢€°98% — 00°09S
&
£
m-zm-@ B— 04— 8L'¥8Y — 8£'98%Y — 000¥S
o
" 2
[~ <C €
o 2
- 3
w 6L — L9v8Y — 06°'G8% — 00°0ZS
N
L
S¢l— Sv'¥8Y — 09'G8Y —¢ 00°00S
¥Zl— 8¢ ¥8Y — Z¥'S8¥ — 00°08%
R it SCl— SL'¥8Y — 89'G8%Y — 05Z9%
LSl— LL'¥8Y — 8¢°G8Y —{ 0009+
KL “ LYl — 66°€8% — 95£°G8% — 00°Gv¥
0S'L— G6'C8Y — GS'G8Y —{ 00°0v¥
0
~
|| A 0/l — 8/°¢8% — 8¢°G8%y — 000Z%
ol | Moo \ \\ 0/1— 89°¢8% — 8ZG8vy — 0G /LY
i o . 69l — ¥$¢8Y — ¥6'¥8Y — 060
<

.......... : \ 891 8RSEr = SEIBL 38B%RE

81 .. \\ \\ 69'L — LS'Z8Y
0Ll — vl'¢8Y — v.'¢8y — 00°08¢

AN \\ \ 89l — 9l'l8y — +.Z28%Y — 00°G9¢

\\ 89l — ¢8'08%

— 9'¥8¥ — O¥'06¢

— l¥'Z8y

00°09¢

o
__________ \\\\ Qe 8880 — 151880308
0Ll — €564 — SLI8y 00°0%¢
5
- G BB  BEBRY o BSOEE

M)
\ QL' — L8 /LY — LV 6LY —<>O'OO'OO€
L9l — C8'9.LY 6¢'8LY 00°08¢
__________ \ \ L9l — L2999V — ¥R LLY — 0G'69¢
L9l — 8/L°GLY — G LLY — 00°09¢

\ \ 0LV — SL VLY

\ \ G6'l— S8'¢/LY — 0L'SLyY — 00°0Z¢

INN3ZAYN NN v81l— 9¥'¢/L¥ — 02'SLYy — 00'llC
\ \ y

0Ll — 86'¢CLY — 8S' VLY —<>C)'OO'OOZ

28l — OL'¢Ly — I8¢LY — 00°08l

\ \ LV — CCLLY v8'CLY 0009l
\ \ 0Ll — G¢°0LY
\ \ 0L'L — L¥'69%

691 — ¥9'89%
. \ \ 85 18481 s
\ \ 9/l — v0' L9V

ZELENY PAS

o
o
©
©,
. < .
— £¢°9/.¥ 00'0v¢

G6'lLY — o007l

LOLLY  — 00'ocl

£C0LY o 0000l

NN
0000
NS
+¥
[9)le)]
OO0
<<

— 86-68

<<

’

© — 04'89% — 0009
a
>
g 1 . . . .
T ¢L'V— LS99Y — 6L'89¥ — 0G'Lv
N
\ \\ 0Ll — 82°99v — 88/9¥ — 0007%
INW3ZQVN 1330S 0Ll — 10799y — <C9/9V — 00'lg
L4l — 69697 — 0¢€/9vY — 00°0C
o
<
o]
— ) ) ) Ao
1 l-¥A Qvy wgmroaw% 0L’L— O0L'G9% — 04799+ b>c)'000
—
|
<
(@)
> O
O
'®) —
- ~
“— o
o o o =
- 7 = €
O (ol xx ()
E_, — >¥_ O D &
op] . > al pd
StC) > O > < L E
I\Z E e < = E:_I L%
_on QL = 5 — 0
Sxro O r S < <C =
W > O > (@] — — <C
NO <C _ ~O ~O —
ooa o = T ~ X n

’

-3.50 - 80.00

8.33 - 120.00

I

65.25 - 40.00 | 41.00 - 40.00

52.33 - 60.00

43.83 - 120.00

38.25 - 40.00 | 4150 - 40.00 |

29.50 - 40.00

- DELKA [m]

,

SKLON [promile] - DELKA ,[Im]

DN [mm] -

MATERIAL




